

36 $y = \frac{x^3}{2}$ at point $(-1, -\frac{1}{2})$ (4) $y = 1+x-x^2$ at point $(-2, -5)$ 5a

$$\frac{dy}{dx} \Big|_{x=-1} = \frac{3x^2}{2}$$

$$m = \frac{3(1)^2}{2}$$

$$m = \frac{3}{2} \quad x_1 = -1, y_1 = -\frac{1}{2}$$

$$y - y_1 = m(x - x_1)$$

$$y - (-\frac{1}{2}) = \frac{3}{2}(x - (-1))$$

$$y + \frac{1}{2} = \frac{3}{2}(x + 1)$$

$$2y + 1 = 3(x + 1)$$

$$2y + 1 = 3x + 3$$

$$2y - 3x + 1 - 3 = 0$$

$$2y - 3x - 2 = 0 \text{ (Equation of tangent)}$$

-38 Equation of a normal

$$m_1 m_2 = -1$$

$$m_2 = -\frac{1}{m_1}$$

$$m_2 = -\frac{1}{\frac{3}{2}}$$

$$m_2 = -\frac{2}{3}$$

$$y - y_1 = m_2(x - x_1)$$

$$y - (-\frac{1}{2}) = -\frac{2}{3}(x - (-1))$$

$$y + \frac{1}{2} = -\frac{2}{3}(x + 1)$$

$$3y + \frac{3}{2} = -2x - 2$$

multiply all through by 2

$$6y + 3 = -4x - 4$$

$$6y + 4x + 3 + 4 = 0$$

$$6y + 4x + 7 = 0$$

$$\frac{dy}{dx} = 1 - 2x$$

$$m = 1 - 2x$$

$$m = 1 - 2(-2)$$

$$m = 1 - 2$$

$$m = -1 \quad x_1 = -2, y_1 = -5$$

$$y - y_1 = m(x - x_1)$$

$$y - (-5) = -1(x - (-2))$$

$$y + 5 = -1(x + 2)$$

$$y + 5 = -x - 2$$

$$y + x + 5 + 2 = 0$$

$$y + x + 7 = 0 \text{ (Equation of tangent)}$$

(4) Equation of Normal

$$m_1 m_2 = -1$$

$$m_2 = -\frac{1}{m_1}$$

$$m_2 = -\frac{1}{1}$$

$$m_2 = -1$$

$$y - (-5) = -1(x - (-2))$$

$$y + 5 = -1(x + 2)$$

$$y + 5 = -x - 2$$

$$y + x + 5 + 2 = 0$$

$$y + x + 7 = 0$$

Equation of Normal

5) $y = \frac{1}{2}$ at point $(3, \frac{1}{3})$

$$\frac{dy}{dx} = x^{-1}$$

$$= -x^{-1-1}$$

$$= -x^{-2}$$

$$m = -x^{-2} = -\frac{1}{x^2}$$

$$m = -\frac{1}{3^2} = -\frac{1}{9}$$

$$m = -\frac{1}{9}$$

$$m = -\frac{1}{9}$$

$$m = -\frac{1}{9}$$

$$x_1 = 3, y_1 = \frac{1}{3}$$

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{3} = -\frac{1}{9}(x - 3)$$

$$y - \frac{1}{3} = -\frac{x}{9} + \frac{1}{3}$$

$$3y - 1 = -x + 3$$

$$3y + x - 1 - 9 = 0$$

$$3y + x - 10 = 0 \text{ (equation of tangent)}$$

6) equation of the normal

$$m_2 = -\frac{1}{m_1}$$

$$m_2 = \frac{1}{1}$$

$$m_2 = 1$$

$$y - \frac{1}{3} = 1(x - 3)$$

$$y - \frac{1}{3} = x - 3$$

$$3y - 1 = 3x - 9$$

$$3y - 3x - 1 + 9 = 0$$

$$3y - 3x + 8 = 0$$

Name: Lovantika Clement Samilakan

Course: Maths 104

Matric: 191MHsol/338

Serial no: 142

For the curves in problem 1 to 5, at the points given, find (a) the equation of the tangent, and (b) the equation of the normal

1. $y = 2x^2$ at the point $(1, 2)$
2. $y = 3x^2 - 2x$ at the point $(2, 8)$
3. $y = x^2/2$ at the point $(-1, -1/2)$
4. $y = 1 + 2 - x^2$ at the point $(-2, -5)$
5. $y = 1/x$ at the point $(3, 1/3)$

1) $y = 2x^2$

$$\frac{dy}{dx} = 4x$$

$$m = 4 \times 1$$

$$m = 4$$

$$x_1 = 1, y_1 = 2$$

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$y = 4x - 4 + 2$$

$$y = 4x - 2 \text{ (Equation of a tangent)}$$

(b) Equation of a normal

$$m_1 m_2 = -1$$

$$m_2 = \frac{-1}{m_1}$$

$$m_2 = -\frac{1}{4}$$

$$y - y_1 = m_2(x - x_1)$$

$$y - 2 = -\frac{1}{4}(x - 1)$$

$$4y - 8 = -x + 1$$

$$4y + x - 8 - 1 = 0$$

$$4y + x - 9 = 0$$

Equation of the normal

2) $y = 3x^2 - 2x$ at $(2, 8)$

$$\frac{dy}{dx} = 6x - 2$$

$$m = 6(2) - 2$$

$$m = 10$$

$$y_1 = 8, x_1 = 2$$

$$y - y_1 = m(x - x_1)$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y = 10x - 12$$

$y = 10x - 12$ (Equation of the tangent)

Equation of the Normal

$$m_1 m_2 = -1$$

$$10 m_2 = -1$$

$$m_2 = -\frac{1}{10}$$

$$y - y_1 = m_2(x - x_1)$$

$$y - 8 = -\frac{1}{10}(x - 2)$$

$$4y - 32 = -x + 2$$

$$4y + x - 32 - 2 = 0$$

$$4y + x - 34 = 0$$